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3. Factor Completely: 81x* - gy*




Find the length and width.
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length f Morgan’s room(idfhree fimesfthe F/;idthlof her room!.
After some remodeling the rea organ's r001ven by the
rw'mmn.m@ + 8w + 4 sq.ft. 1ndﬂthe increase in the dlmensmns

of the room. (Hint: Factor 3w? + 8w + 4 and compare the

dimensions with the original. ]
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A square parking area has an area equal to 36x* - 36X+ 9
meters. Find the side of the parking lot.
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The volume of a rectangular prism is 15x* + 70x* + 40x. What are
the possible dimensions of the prism? V = lwh
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